COCI '08 Contest 1 #1 Skocimis

Time limit: 1.0s  Memory limit: 32M

Three kangaroos are playing in the desert. They are playing on a number line, each occupying a different integer. In a
single move, one of the outer kangaroos jumps into the space between the other two. At no point may two kangaroos
occupy the same position.

Help them play as long as possible.

Input Specification

Three integers A, Band C (0 < A < B < C < 100), the initial positions of the kangaroos.

Output Specification

Output the largest number of moves the kangaroos can make.

Sample Input 1

235

Sample Output 1

Sample Input 2

359

Sample Output 2
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